NCERT Solutions for Class 8 Maths Chapter
9 Algebraic Expressions and ldentities Ex 9.4

Ex 9.4 Class 8 Maths Question 1.
Multiply the binomials:

(i) (2x + 5) and (4x — 3)

(i) (y —8)and (3y - 4)

(iii) (2.5 — 0.5m) and (2.5 + 0.5m)
(iv) (@ +3b)and (x + 5)

(v) (2pq +302) and (3pq - 2¢?)
(vi) (2a%+ 3b?) and 4(a? - 2 b?)
Solution:

(i) (2x + 5) x (4x = 3)

=2x x (4x — 3) + 5 x (4x — 3)

= (2xx 4x) = (83x 2x) + (5 x 4x) — (5 x 3)
= 8x2 - 6x +20x — 15
=8x2+14x — 15

(i) (y = 8)x By — 4)
=yx(3y—-4)-8x(3y-4)

=(yx3y) —(yx4) — (8x3y)+(-8x-4)
= 3y? — 4y - 24y +32

= 3y2 — 28y + 32

(iii) (2.5 = 0.5m) x (2.51 + 0.5m)

= (2.5 x 2.51) + (2.5 x 0.5m) = (0.5m x 2.5I) = (0.5m x 0.5m)
= 6.2512 +1.25ml — 1.25ml — 0.25m?

= 6.2512+ 0 - 0.25m?2

= 6.2512 - 0.25m?

(iv) (@+3b) x (x+ 5)

=ax(x+5) +36x(x+5)
=(axx)+(@ax5)+(36xx)+ (36 x5)
=ax+5a+3bx+15b



(v) (2pq +30?) x (3pq ~ 29?)

= 2pq x (3pq — 2¢2) + 392 (3pq - 29?)

= (2pq x 3pq) — (2pq x 292) + (3% x 3pq) — (3% x 2q?)
= 6p2q2 - 4pg3 + 9pg® - 6g*

= 6p*g” + 5pg° - 6q*

(vi) (%ag + 359) x 4[:3 - g-bg)

- (%az + 3{:2] x(4:12 - 252]
Ea2 x(4a2 —gbz]
4 3
2 2 8.9
+ 3b x[f-la —EEJ]

(Eaz b A’az)—[g—az X ’g—zbz]

A A 3

+(3b?% x 4a?) —(3’52 X %bﬂ]

= 3a'- 2a%b? + 12a%b? — 8b*
= 3a* + 10a?h? - 8b*

Ex 9.4 Class 8 Maths Question 2.
Find the product:

(i) (5—2x) (3+X)

(i) (x+7y) (7x =)

(iii) (a2 + b) (a + b?)

(v) (p? = g%)(2p + q)

Solution:

(i) (5-2x) (3+x)

=53 +x) — 2x(3 + x)
=(5x3)+(5xX%) — (2xx 3) — (2x x X)
=15+ 5x — 6x — 2x2

(i) (x+7y) (7x =)
=X(7x = y) + 7y(7x ~y)
(xx 7x) = (xxy) + (7y x 7x) = (7y x y)
7x2 - Xy + 49xy — 7y2
x2 + 48xy — 7y?



(iii) (a2 + b) (a + b?)

= a2 (a +b?) +b(a+b?)

= (@2xa) + (a2 x b2) + (b x a) + (b x b?)
=ad+a%b?+ab+b3

(iv) (0% = 9?)(2p + q)

= p%(2p+q) - g%(2p + q)

= (p2x 2p) + (P2 x ) — (92 x 2p) ~ (4% x Q)
=2p° +p’q - 2pg” - ¢°

Ex 9.4 Class 8 Maths Question 3.

Simplify'

) (x* = 5) (x + 5) + 25

i) (@2 +5) (b3 +3) +5

iii) (t +s2) (t2 - s)

iv) (@+b) (c—d)+(a—b)(c+d)+2(ac + bd)
V) (X +y) (2x+y) + (X +2y) (x —y)

) (x+y)(x% = xy +y?)

) (1.5x = 4y)(1.5x + 4y + 3) — 4.5x + 12y
viii) (@+b+c) (a+b-0)
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Solution:

(i) (x* = 5) (x + 5) + 25

= x2(x + 5) + 5(x + 5) + 25
=x3 +5x2 - 5x — 25+ 25
=x3+5x2 - 5x+0

= x3 + 5x2 — 5x

(i) (@2 + 5)(b3 +3) + 5
=a2(b3+3)+ 503 +3)+5
=a2p3 +3a2+5b3+15+5
= a2b3 + 3aZ + 5b3 + 20

(iii) (t + s2) (2 - s)

= t(t2 - 5) + s2(t2 - s)
=t3 - st+s2t2 -8
=3+ 522 - st - s°



(iv) (@+b)(c —d)+(a—b)(c+d)+2(ac+ bd)
=a(c-d)+b(c-d)+a(c+d) - b(c+d)+2ac+2bd
=ac —ad+bc—-bd+ac+ad-bc-bd+2ac+2bd
=ac+ac+?2ac+bc—-bc—ad+ad-bd-bd+ 2bd
=4ac+0+0+0

=4ac

(V) (x+y) (2x+y) + (x+2y) (x —y)

=X(2X +Y) +y(2x +y) + X(x = y) + 2y(x — y)
:2x2+xy+2xy+y2+x2—xy+2xy—2y2
= 22 + X2 + Xy + 2xy — Xy + 2xy + y2 — 2y?
= 3x2 + 4xy — y?

(vi) (x + ) (x2 = xy +y?)

= X(x2 = xy +y2) +y(x2 = xy +y?)
=33 = %2y + X2y + xy2 — xy2 + y3
=x3-0+0+y3
-3 43

(vii) (1.5x = 4y)(1.5x + 4y + 3) — 4.5x.+ 12y

=1.5x (1.5x + 4y + 3) — 4y(1.5x + 4y + 3) — 4.5x + 12y
= 2.25x% + 6xy + 4.5x — 6xy — 16y2 — 12y — 4.5x + 12y
= 2.25x2 + 6xy — 6Xy + 4.5X — 4.5x + 12y — 12y — 16y2
=2.25x2+0+0+0 - 16y2

= 2.25x2 - 16y2

(vii) (@a+b+c)(a+b-0)
=a(a+b-c)+b@a+b-c)+cla+b-c)
=a2+ab-ac+ab+bZ-bc+ac+bc-c?
=a2+ab+ab-bc+bc-ac+ac+b?-c?
=a2+2ab+b2-c2+0+0

=a?+2ab+b? - c?





